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Q9) Two lightbulbs M and N are connected in parallel across the same potential
difference If the resistance of M is twice that of N, the lightbulb with the highest

A. N B. M C. the same D. cannot be determined

ilS 1M 220V g 2ic Jaxiy 55A o ke s lgis Al 48 5 il RS Gl k) (100
2 (ot QuﬁstunMRéM A8 i dely mﬂ;.sdﬁd@o,zg.a el sl 44815

A. 11616 SR B. 11210 SR C. 1520 SR D. 116 SR

Mia (620 A a5 0 M, e=12V.a Al <) dadlal) 5 ity i, CS 13 3Ly Jed B (11 m
D (R) i) 4 glayy
Q11) In the circuit shown, the electromotive force s =12V, and the drawn current is
20 A the value of load resistance R is

r-ﬂ--m-q--ﬁ-

A. 0.58 O B. 0.93 0 Cl132 © D. .75 0
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